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1.(2 pts) How are ordinary arrays of characters and c-strings similar and how are

they dissimilar?

Similar: Both ordinary arrays of characters and c-strings have fixed lengths
once they are declared. Both of their names can be used as pointers. Both of
them cannot be assigned to other string literals or ordinary arrays of
characters, while single characters in them can be reassigned.

Dissimilar: Ordinary arrays of characters might not have null characters, while c-
strings have to use null characters to indicate the end of strings. C-strings can be
processed with functions from <cstring>, while ordinary arrays of character cannot.

2.(4 pts) What are two (2) things that are wrong with this use of a c-string (ignore why someone would write this code, focus on logic/syntax errors)?

:har §l£5 ] j Ol\jlal.-k<i §2 [ ?_1_,_: JILLY; Firstly, the lengths of s1 and s2 are 5, so accessing the 6th element in the for loop is illegal.
or (int 1 n ! 1 T 1++) Secondly, comparing s1 and s2 directly means comparing their addresses, which might not
. sl[i] = s2[1]; be what is expected. Thirdly, s1 cannot be reassigned to other string literal.

if (sl != s2) sl = "Art";

3.(4 pts) What is the output of the following code?

char sl[4] = "abc", s2[4] = "ABC";
if (strcmp(sl, s2)) cout << "Hi!"; Hi!
else cout << "Hey!";
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Similar: Both ordinary arrays of characters and c-strings have fixed lengths once they are declared. Both of their names can be used as pointers. Both of them cannot be assigned to other string literals or ordinary arrays of characters, while single characters in them can be reassigned.

Dissimilar: Ordinary arrays of characters might not have null characters, while c-strings have to use null characters to indicate the end of strings. C-strings can be processed with functions from <cstring>, while ordinary arrays of character cannot.


Hi!

Firstly, the lengths of s1 and s2 are 5, so accessing the 6th element in the for loop is illegal.
Secondly,  comparing s1 and s2 directly means comparing their addresses, which might not be what is expected. Thirdly, s1 cannot be reassigned to other string literal. 
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4.(8 pts) The following code takes in a string input from the user and performs an integer multiplication, as seen in
the example run here. Note that the input string will contain the asterix character (i.e. *):

Enter 2 integer numbers to be multiplied,

The answer is: 45

like this:

numl*num2: 15*3

Complete the missing code below that performs this task (it can be done in 2 lines, but you can use more if you like).

string s

cout << "Enter 2 integer numbers to be multiplied,

cin >> s

intind=s

; int k(0);

find(**);

k = stoi( s.substr(0, ind) ) * stoi( s.substr(ind + 1) );

cout <<

"The answer is: " << k << endl;

like this: numl*num2: "; h 1 3
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5.(10 pts) Show the output produced when the following code (entire program not shown) is executed. You are encouraged to also try to compile this
in a program to verify your results.

stri

cout
cout

name
cout

name.

cout

name
cout

name.

cout
cout
cout
cout

for

cout

ng name = "Jeffery Tambor";
<< "NAME = " 4+ name << endl;
<< name.length() << endl;

.erase(8, 6);

<< name << endl;
append("Dean WD Morgan");
<< name << endl;

.insert (22, "Q@QTWD");

<< name << endl;
replace(23, 3, "The WD");
<< name << endl;

<< name.find("WD") << endl;
<< name.rfind("wWD") << endl;
<< name.rfind("fery") << endl;

(int i = name.length();
cout << name[i-1];
<< endl;

i > 20;
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NAME = Jeffery Tambor

14

Jeffery

Jeffery Dean WD Morgan

Jeffery Dean WD Morgan@TWD
Jeffery Dean WD Morgan@The WD
13

27

3

DW ehT@na
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int ind = s.find(‘*’);
k = stoi( s.substr(0, ind) ) * stoi( s.substr(ind + 1) );
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